

B. inhomogen:  $u = u(r, \varphi, t)$

Ansatz:  $u = R(r) \cdot e^{im\varphi} \cdot T(t)$

$$\Delta u = \partial_{rr} u + \frac{1}{r} \partial_r u + \frac{1}{r^2} \partial_{\varphi\varphi} u \quad ;$$

$$T'' \cdot R \cdot e^{im\varphi} = [R'' + \frac{1}{r} R' + (\frac{1}{r^2} - m^2) R] T \cdot e^{im\varphi}$$

$$\frac{T''}{T} = \frac{R'' + \frac{1}{r} R' - m^2 R}{R} = -\lambda^2$$

(1) (2)

analog:  
 $-\Delta u = \lambda^2 u$   
 $u|_{\partial\Omega} = 0$

(2):  $R'' + \frac{1}{r} R' + (\lambda^2 - \frac{m^2}{r^2}) R = 0$  ;  $u_{m,m}(r) = J_m(\lambda_{m,m} r)$

subst.:  $\lambda r = \rho$

(B<sub>m</sub>)  $Z'' + \rho^{-1} Z' + (1 - \frac{m^2}{\rho^2}) Z = 0 \quad Z = Z(\rho)$

$$J_m(\rho) = \left(\frac{\rho}{2}\right)^m \sum_{n=0}^{\infty} \frac{(-1)^n}{n!(n+m)!} \left(\frac{\rho}{2}\right)^{2n}$$

alle  $J_m(\lambda_{m,m} a) = 0$

z.B.:  $\lambda_{m,m} = \frac{\alpha_{m,m}}{a}$

$\{\alpha_{m,m}\}_{m=1}^{\infty}$  - Nullstellen  $J_m(\rho)$ .

oberg. Serie:  $\sum_{m,m} C_{m,m} e^{-\lambda_{m,m}^2 t} \cdot e^{im\varphi} \cdot u_{m,m}(r)$

↖  
residu

poč. zadan:  $\sum C_{m,m} e^{im\varphi} u_{m,m}(r) = u_0(r, \varphi)$

lec:  $u_0(r, \varphi) = \sum_{m \in \mathbb{Z}} d_m(r) e^{im\varphi}$   
 ↑ razvoj do Four. ređy

$\forall m \text{ ređ: } \sum_m C_{m,m} u_{m,m}(r) = d_m(r)$   
 ↑  $L^2(0, a)$   
 Ob  $r \in (0, a)$  o nekak  $r dr$

$$C_{m,m} = \frac{\langle u_{m,m}(r), d_m(r) \rangle}{\langle u_{m,m}, u_{m,m} \rangle}$$

rozvoj:  $N(x) = \sum_{\alpha} C_{\alpha} u_{\alpha}(x)$

$u_{\alpha}$  jmo Ob niti  $\langle \cdot, \cdot \rangle$ .

$$\Rightarrow C_{\alpha} = \frac{\langle N, u_{\alpha} \rangle}{\langle u_{\alpha}, u_{\alpha} \rangle}$$